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2AM: 2=
M. ZIANE L 23N 22
CHol: Zotoi ALt (el @2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Sl 2&E22 27,456 28,975 A 1,519
101 @121l 17,956 3,975 13,981
04 J|I2ZtH2E2XNEE S 17,956 3,975 13,981
OsgtiEx JI2tH2g Xk o2 17,956
A== 66,800& *1H 180 12,024
—FF34 66,800& 1 36 2,405
— A xxe 66,8002 x1H 9L 602
— Sl 2,000&x1*180 360
— Al 4,000& x1H 180 720
—4HEES 205,000& x1H x9& 1,845
206 M = Hl 6,000 6,000 0
01 & bl 6,000 6,000 0
OREEE ALME 500,000& *2& 1,000
ORz=8s=22 &M 5,000,000& * 14 5,000
401 Al HIL 200 3,500 9,000 A5,500
01 Al &bl 3,500 9,000 A5,500
A2ERE BEX 3,500,000& x 14 3,500
NS EA L AR 21,000 24,000 A 3,000
201 et A | 20,000 8,000 12,000
01 AFR2 2t 2l dl 20,000 8,000 12,000
OEEAN SENHEE M 20,000, 000& *14! 20,000
405 XtabF S| 1,000 1,000 0
02 & A7t 1,000 1,000 0
ONMEMNMA & DV0 2 1,000,000& * 14 1,000
AA 9 DJ|E HA| 40,600 20,600 20,000
201 L2 9| 20,600 20,600 0
01 At 22l Yl 600 600 0
O&AIIIE S IHEFY 200,000& *3H 600
03 AL H I 20,000 20,000 0
OJI&E & Al = 20,000,000& 13| 20,000
401 AIEHIL 20| 20,000 0 20,000
01 A& bl 20,000 0 20,000
OAMENAIA JHEISA 20,000,000& *13] 20,000
SMAIEH L AIED|E &S 3,000 3,000 0
206 M = Hl 3,000 3,000 0
01 X bl 3,000 3,000 0
OXBEMW2HI (s, 02,23 S)
200,000& x5& 1,000
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fAM: 2=
M 2oAN4E 2 23 2el
CHel: FotoAlEt 2T CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXIRS 2,100,000& x12& 25,200
OQHYHSIR=S 25,0003 «12& 300
OREEEZ(HH & AFER2)
500,000 » 14! 500
osmgsz 700,000 » 14! 700
O=&10 &= 2,000,000& »14 2,000
Otz =282 3 A3l 300,000 14! 300
Od=sEEsa0s2Eas Haltl
200,000 » 14! 200
O A E=H 5,000,000& =14 5,000
401 AIEHI L 2] 20,000 100,000 280,000
01 A& Hl 20,000 100,000 80,000
OdEd =FEIA 10,000, 000& 14! 10,000
Ogtga A5 2E2 ZA
10,000, 000& 14! 10,000
405 XHoHF S HI 16,420 2,900 13,520
01 AL EZFH S 16,420 2,900 13,520
ORUALEEMAI 2 800,000 = 1CH 800
ONsHASI 7 2,300,000 = 1CH 2,300
OdAlA BIEEI 2L 1,000, 0002 *6CH 6,000
O&AlIY Hsol 2¢ 1,100, 000& *6CH 6,600
OM=Jl #+¢ 320,000 1CH 320
O®RE2x g 400,000& = 1CH 400
HRASAE 2,253,835 2,124,577 129,258
J| 122,592
= 77,470
s 2,053,773
s MM 1,732,335 1,537,302 195,033
J| 122,592
< 46,470
[ia 1,563,273
MU X2 At 100,956 103,680 N2, 724
201 et Y| 30,076 30,460 384
01 At 22l 30,076 30,460 A 384
OAMRI1JI2& 220,000& 1228 2,640
OMSXH S (5A)
8,000 «3F 72 «12& 2,016
OMsSTEIS 2E AR =¢
70,0003 x6H * 12 420
OUAILEA Ol HEFA S
2,500,000& =103l 25,000
202 04l 4,680 7,020 A 2,340
01 = LH 4 Hi 4,680 7,020 A 2,340




EX: S3Hs
HH: HAFIAH
el HEE TS A CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ON=Nd 920 (5%)
130,000& »3Y¥ x12& 4,680
307 2iz2to| & 66,200 66,200 0
02 DI AAIE E X 66,200 66,200 0
O&F=2 2 Ta 8K AY
1,083,3323+x24= = 26,000
OMESEH(EIAMEAIZ2ZH])
25,200,000& = 14! 25,200
OFAHE =32S0tel XNSAY
12,000,000 » 1Al 12,000
OHOIEE 2£2Y dIX 0
1,500,000& 13| 1,500
OANOlEE NS A L AlTtal
300, 000& 53| 1,500
=3 XN 398,604 351,000 47,604
307 212t0| & 398,604 351,000 47,604
02 DIZEBAAIE E X 87,000 51,000 36,000
OF=2U3SX =X AMH AS
60,000& »50H 3,000
OHOIEESH etdl X & 600,000& *504 A~ 3,000
OS8HHM=ss 43l 1,000,000 11 S 11,000
OsSYM=3 dIAAM=UI 25,000,000 13| 25,000
OAHOIEE 43t &ZH| 2,000,000 %174 A~ 34,000
OEMERes 43 XIS
5,000,000 1Al 5,000
OEM=?|s d&XXAE 6,000,000& 13 6,000
03 QIZI X EHAESIHIEX 311,604 300,000 11,604
OXZHZEE AMPA 29 L 22
311,604,000 10 & 311,604
2935 d= 0i2tE U3 40,000 40,000 0
307 2I2t0| & 40,000 40,000 0
02 DI AAIE E X 40,000 40,000 0
OosYsd=0l2tEU 3 40,000,000 *13] 40,000
OlOI At M=2ERHE 30,000 30,000 0
307 2iz2tol & 30,000 30,000 0
04 QIZ2tSHAFALS B X 30,000 30,000 0
OO0l &Y M=2ERMHS 30,000,000 13| 30,000
Notsathl d=2EUEul20a 65,000 65,000 0
307 QI2t01 ™ 65,000 65,000 0
04 CIZ2tSHALALS B X 65,000 65,000 0
OXot=AH M2 EHBH 2 S
65,000,000 13l 65,000
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X ZH -
L= B

el

[Ho > [o
palii]
> &

s 0 HO
Mz
re!

e 1
o

s
02
=

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Lot At M=aHERE N3 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 DI2ZHHALALSE E X 30,000 30,000 0
OfetE &t MIBHERIEHS
30,000,000& =13l 30,000
ots 4t MIMIASZS 23,000 23,000 0
307 21201 A 23,000 23,000 0
04 DIZHHALALSE E X 23,000 23,000 0
Ofet= 4t MM =3
23,000,000& =13l 23,000
I AILIO B2 CHS 35,000 0 35,000
< 5,000
[ia 30,000
307 21201 A 35,000 0 35,000
< 5,000
[ia 30,000
04 DI2FSHALAIE 2 = 35,000 0 35,000
O&E=AILIO BH2CHE 35,000,000& =13l 35,000
= 5,000
s 30,000
M= SHIHZ 3 6,000 20,000 A 14,000
307 gl2tol & 6,000 20,000 214,000
04 DIZHHALALSE E X 6,000 20,000 A 14,000
Od=Z3 WIHHAS 6,000,000& x13] 6,000
d=AEMAE HEXA 20,000 0 20,000
307 2Iztol ™ 20,000 0 20,000
02 It MAMHEE 20,000 0 20,000
OF=AEMAE MHEXE 20,000, 000& * 12| 20,000
Hdet=SEe Msisl 230,000 0 230,000
307 glz2tol & 230,000 0 230,000
02 QB AANGFEX 230,000 0 230,000
Odct=ExN=sUHz2 230,000,000& =13l 230,000
HdetsE HH 2=U3 25,000 20,000 5,000
< 5,000
[ia 20,000
307 21201 A 25,000 20,000 5,000
= 5,000
[ia 20,000
02 IS AHEL 25,000 20,000 5,000
OXet=t dd S=UH 3 25,000,000& x13] 25,000
< 5,000




AN 23HSD
HH: HAFIAH
el BB HSHA CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 20,000
det=E Ol HILIATE 8,000 5,000 3,000
< 3,000
s 5,000
307 gl2tol & 8,000 5,000 3,000
< 3,000
s 5,000
04 DIZHHALALSE E X 8,000 5,000 3,000
Odet=& ol=HLUAWMS 8,000,000 x13] 8,000
< 3,000
[ia 5,000
ESEYEFH SI0U3 8,000 5,000 3,000
< 3,000
i 5,000
307 glz2tol & 8,000 5,000 3,000
< 3,000
e 5,000
02 QIZtE M AHEE 8,000 5,000 3,000
OBEY =8 S04 8,000,000& =13l 8,000
< 3,000
s 5,000
SUFE 3FE F2UE 8,000 0 8,000
< 3,000
[ia 5,000
307 21201 A 8,000 0 8,000
= 3,000
s 5,000
02 It S AHE L 8,000 0 8,000
OR&F 378 g2U3 8,000,000& x13l 8,000
< 3,000
e 5,000
=0lod MEUs 91,000 91,000 0
307 glz2tol & 91,000 91,000 0
04 DIZHHALALSE E X 91,000 0 91,000
OzZ2od Msial 91,000,000 » 14! 91,000
=3I 2803 62,500 53,000 9,500
307 glz2+ol & 62,500 53,000 9,500
04 QIZFHALAIH B = 62,500 0 62,500
OM=s3&I s=28UH2 31,250,000& »23] 62,500
S350 &ots HuA el 8,000 0 8,000
< 3,000
[ia 5,000
307 21201 A 8,000 0 8,000
< 3,000




AN 23HSD
HH: HAFIAH
Eel: 2EE MM (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 5,000
02 It M AMHEE 8,000 0 8,000
O=3¢0l stitE HLIA sl 8,000,000 13l 8,000
< 3,000
[ia 5,000
dEdAM0etEMHS A 6,000 6,000 0
307 21201 A 6,000 6,000 0
02 QIAFAANFEX 6,000 6,000 0
Od=2ddOtctEe &M 6,000,000& *1 6,000
MEHSZENCX ALY 9,155 9,155 0
< 2,747
s 6,408
307 gl2tol & 9,155 9,155 0
< 2,747
s 6,408
02 IZtA M AIHE L 9,155 9,155 0
OMENSZHENZA 2 ALY
9,155,000& =10 At S 9,155
< 2,747
s 6,408
MEHSNY 2IAL(EX) 11,400 11,400 0
< 3,420
s 7,980
307 21201 A 11,400 11,400 0
< 3,420
s 7,980
02 It S AHE L 11,400 11,400 0
OMENsNA 2HAY
11,400,000 =170 Ab & 11,400
< 3,420
[ia 7,980
MEHE S3220(BX) 36,416 40,000 A 3,584
< 10,963
[ia 25,453
307 21201 A 36,416 40,000 A 3,584
< 10,963
[ia 25,453
02 ItFAAHE X 36,416 40,000 A 3,584
OMais s3] 2I9Ad
36,416,000 =100 AH 36,416
< 10,963
[ia 25,453
FAUE2NA 2HAMG(EX) 10,140 0 10, 140
= 3,020
s 7,120




AN 23HSD
HH: HAFIAH
el REE HSHA (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 10,140 0 10,140
< 3,020
s 7,120
02 PIZHEHAHE L 10,140 0 10,140
OfAEEAUA 2EAMY
10, 140,000& * 170 AH 10,140
< 3,020
s 7,120
AZXAMOISHXE 28,800 23,040 5,760
J| 20,160
< 4,320
s 4,320
301 gt d= 28,800 23,040 5,760
J| 20,160
< 4,320
s 4,320
01 MEI2EZE 05z 28,800 23,040 5,760
OAZEHIRHAY 28,800,000 =100 Ab 28,800
J| 20,160
< 4,320
s 4,320
ot 2, HF= FLEAHESUHE 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
04 QIZFHALAIH E = 3,000 0 3,000
OxigH 2= &= JALHEZU 2
3,000,000& =13 3,000
dotz AOIE=SEaEIIUE 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
04 DI2HHALAISE E X 3,000 3,000 0
OXetZAHOESHEIZIIUE
3,000,000& =13l 3,000
HOIEZ AlZ2t FdwFHI| 1,500 ,500 0
307 gl2tol & 1,500 ,500 0
04 DIZHHALALSE E X 1,500 ,500 0
ONOIEE A2t 2 nFHI|
1,500, 000& * 13| 1,500
s =8 MeEd=sUsl 15,000 ,000 A7,000
307 21201 A 15,000 ,000 A7,000
02 It S AHE L 15,000 ,000 A7,000
Ofet=EE H2NMEXNSHE &It
15,000, 000& 14 15,000
S8 MENSXNEX X (2SXE) 102,432 ,432 0
51,216
[ia 51,216




fAM: 2=
HH: HAFIAH
Chel: KESE WS A (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2tol & 102,432 102,432 0
| 51,216
s 51,216
02 PIZHEHAHE L 102,432 102,432 0
Oz MEMSAEZX HHXIAIS
25,608,000& »4H 102,432
| 51,216
s 51,216
ULHMEH XS A X (2SKEA) 102,432 102,432 0
J| 51,216
s 51,216
307 gl2tol & 102,432 102,432 0
J| 51,216
s 51,216
02 It M AHE L 102,432 102,432 0
OLetMET XIS X B XA
25,608,000& x4 H 102,432
| 51,216
s 51,216
M= MENS(HHZEA)HAEISHSE &It 5,000 5,000 0
307 21201 A 5,000 5,000 0
02 IZtE S AIHE L 5,000 5,000 0
ONSE MEME(HHZUA)HAEISEUS &It
5,000,000& =13l 5,000
d=Es0tel M=l &t 6,000 6,000 0
307 21201 A 6,000 6,000 0
02 LB AAFEX 6,000 6,000 0
O&=s0te =l &It 6,000,000 » 14! 6,000
HdEXNMEHAM=SUH &It 6,000 6,000 0
307 21201 A 6,000 6,000 0
02 It M AHE L 6,000 6,000 0
OF=EXNMEHAMSHE &It
6,000,000 » 14! 6,000
HESZFEH(MM)EMML MU &It 10,000 10,000 0
307 21201 A 10,000 10,000 0
02 QItFAAHE X 10,000 10,000 0
OdSBCH(AMAM)EMHAMSUHSE &It
10,000, 000& * 14 10,000
HEFML M= 23,000 0 23,000
307 21201 A 23,000 0 23,000
02 LB AAHFEX 23,000 0 23,000
ONd=2ZMHAM=Ha &I 23,000,000& 12| 23,000




AN 23HSD
Mo MTH S
ol RES HSHA (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jotz M= TH ZoHstotsMsU 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DI2ZHHALALSE E X 20,000 20,000 0
O&lotz M= & HoHelstorSHsU
20,000,000& =13l 20,000
Zo MEMSRY 2 10,000 0 10,000
307 21201 A 10,000 0 10,000
02 It S AMHEL 10,000 0 10,000
OZOY deMsnd 28 X
10,000, 000& * 14 10,000
M= = ¥ =H 8,000 2,000 6,000
307 21201 A 8,000 2,000 6,000
04 QIZFHALAIH B = 8,000 2,000 6,000
O&= & Tt ZUAM=sUa && - s8I
8,000,000& x13] 8,000
oM =S XA 65,000 0 65,000
307 glz2+ol & 65,000 0 65,000
02 IZtEAAMHEE 25,000 0 25,000
OHMUN=3 WA BIESXE
2,500,000& =102 &+ I 25,000
03 QIAHMHE2IHIEE 40,000 0 40,000
OHMeAM=35 XA 40,000,000& * 14| 40,000
Het=SE HdMEX=sUHa 20,000 15,000 5,000
307 21201 A 20,000 15,000 5,000
04 DIZHHAAL I 2 X 20,000 0 20,000
Ofet=E: HEMdEXN=sUHSE
20,000,000& =13l 20,000
HEsds SAXJAY 12,000 0 12,000
301 et a = 12,000 0 12,000
12 JIEtE4 3 12,000 0 12,000
Otz @6 XA 1,000,0008 122 12,000
M sololeh A 6,000 5,000 1,000
307 21201 A 6,000 5,000 1,000
04 QIZFHALAIR B & 6,000 0 6,000
OHM=elolgr At 6,000,000& x13] 6,000
Motz STHEURSARE 13,000 13,000 0
307 2Iztol ™ 13,000 13,000 0
02 It M AHE L 13,000 13,000 0




2AM: 2=
Mo MTH S
ol FEE RS A CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Oflotz 221 4K
13,000,000 *14] 13,000
AZX0OIAE 10,000 0 10,000
307 212t01 & 10,000 0 10,000
02 DIZtZAAMEE X 10,000 0 10,000
O&dX=e8 S 10,000,000& *13] 10,000
HNE2SEIR 249 521,500 587,275 ANB5,775
< 31,000
= 490,500
otz NEASSHIR 89 521,500 587,275 NB5,775
< 31,000
= 490,500
201 et A | 53,900 53,510 390
01 AFR2 2t 2l dl 3,440 3,050 390
Oe=dd 2A2IEE 7€ 182,500& = 12& 2,190
OS9c=dd HalHzl Z=Hl 650, 0003 *14] 650
Os8Exeg DsczsEds 50,000& = 12& 600
02 33249l 50,460 50,460 0
OSEXNE RFU 400,000& *12& 4,800
Osgxgyd A2l 1,500,000 » 14! 1,500
OdIIe=2 2,500,000& ~12& 30,000
Oadte=22 300,000& x12& 3,600
osuaea 300,000& x12& 3,600
O&+JIUN 50,000& x12& 600
oIt =42 200,000& x12& 2,400
Oagotd2e| =2 230,000& ~12& 2,760
ORolAH 84 100,000& = 12& 1,200
202 04| 2,400 0 2,400
01 2LHOHI 2,400 0 2,400
OAZ MSHA 25
0,000& x2H x53| x12& 2,400
301 dEtE A= 465,200 508,000 N 42,800
& 31,000
2 434,200
00EEHY - 2S2S2 43 465,200 508, 000 A 42,800
OATH4E 212 U 22yl
465,200,000 * 14! 465,200
& 31,000
= 434,200
=M X & 1,224,096 965,001 259,095
T 280,000
= 944,096
S M0l =& A 1,224,096 965,001 259,095




2N
CENXE

el

X ZH
S =

Z M = ot

SOl = A

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
T 280,000
= 944,096
= IS AL 354,096 215,001 139,095
T 80,000
= 274,096
201 et A | 124,416 116,320 8,096
01 AFR2 22l Yl 98,416 98,320 96
OsH 2 233 &< 2,000,000&*53 10,000
Oouzzins 1,100,000& *24 4 26,400
OsH=E=e 60,000, 000& =14 60,000
O=HEAI S U (SH)
8,000 x3H x7L x12& 2,016
02 33294l 26,000 18,000 8,000
OFH ZEHOIXN |RXNEx 15,000, 000& *20% 3,000
O=H SNS (HOlAS, E210, IIINLAEL
sS)2dgdael ¥ == 15,000,000 *14! 15,000
OFH=EHOIX SEHH e HE Al
8,000,000& * 14 8,000
202 O B 14,680 8,681 5,999
01 2L Y| 14,680 8,681 5,999
OFH 82 ¢ dHxorz 10,000,000& 10,000
O=H g2x8(5Y) 130,000%x3% x12& 4,680
203 € R =&lY| 5,000 0 5,000
03 Al Z=A S R =AH| 5,000 0 5,000
=M gRFX 5,000,000& 5,000
307 ©12+OI & 210,000 90,000 120,000
< 80,000
= 130,000
04 QIZHSHAFAIE 2 X 210,000 90,000 120,000
O2=28=2= HAHOZ 80,000,000 *14] 80,000
= 80,000
OOt 2L D24 =X
50,000, 000& *13] 50,000
O&Iot N3 =8r=H 50,000,000& *13] 50,000
OXOHAAHF ZXLC|FAH 30,000,000& *13] 30,000
zotE A=A 870,000 750,000 120,000
T 200,000
= 670,000
207 A IR b 70,000 0 70,000
01 A2 &9l 70,000 0 70,000
OfotsMa=MH SEIIAHE 9
70,000, 000& *14] 70,000
307 212t01 & 800,000 750,000 50,000




2N

X =
Et2|

Z M = ot

CEMXE
RN s A

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
T 200,000
= 600,000
04 QIZFSHALAIE B2 X 800,000 750,000 50,000
02019 HotE AN (CHE2 2 X 2002 2F2)
800,000,000 * 14 800,000
& 200,000
= 600,000
HHSAHU(RIH ) 155,288 213,019 N57,731
ERHU(SAS) 155,288 213,019 N57,731
ES A (2SS ) 123,224 171,789 A 48,565
101 @121 123,224 171,789 N 48,565
01 2= 98,279 105,946 NT,667
OANZAZR2Y 96,541
— 62 11,4013 x4 »50A| 2+ x12& 27,363
— 2 AL 10,989& x1H «x50A| 2t*12& 6,594
73 10,2993 x5H x50A| 2+ x12& 30,897
— 82 9,246 x2H x50 A| 2tx12& 11,096
— UL HI(82) 9,246 x 1 +50A| 2t 12& 5,548
- 9= 8,357 & *3H x50A| 2tx 12 15,043
OMIMA Yl 96,541,000 %1.8/100 1,738
02 JIEt& E % 22,516 65,843 N43,327
QA2 (8ts2) 13,763
—-=2Z 8,559& x2H «67 Al 2+ x 128 13,763
Qo222 4g (=2 H) 8,354
—-=2Z 2,853 x2H *BA| 2t %183 8,354
OMSIM Al 22,117,000& *1.8/100 399
03 I HLZZAHE S 2,429 0 2,429
OAZA224d (82 2)
13,490& *15A| 2tx12& 2,429
JlgZdl (2 d=s) 32,064 41,230 N9, 166
201 LEr2 Y| 23,364 30,530 AT7,166
01 AR 22| bl 23,364 30, 150 N6,786
O=8AHYI L= 2t S 600,000 *14] 600
OARIID| 2SH(ZH)
220,000& 4 El x12& 10,560
OrER==(58Y) 200,000& = 12& 2,400
OJIEt2YH| (EBY) 5,100,000 5,100
OSH (&) 8,000& x7H 72 x12& 4,704
202 4] 5,100 5,900 A 800
01 2LHOHI 5,100 5,900 A 800
OS2IHE RFA(BH)
300,000& *x1H x12& 3,600
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